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What is the purpose of Big Oh notation ?
Arrange the following function into increas-

ing order ; nlog n, (log n)”, 2% log n.

What is W notation ? Compare order of growth

of n! and 2".

On what input data does QUICK SORT
algorithm for sorting exhibit its worst-case
behavior ? Justify with an example of 8

clements.

Define and differentiate between NP.and NP-

complete problems with example.

Is the running time of Merge sort depends on
the value of the keys in the input file ? Explain

your answer.

In Kruskal’s method for finding a minimum
spanning tree, how does the algorithm know
when the addition of an edge will generate a

cycle ?
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What 1s the minimum number of keys that
must be moved during a “remove the largest™
operation in a max-heap ? Use a heap of size

|5 to explain your answer.

Solve the following recurrence relation
T(n)=n yifn=0eorn=1

T(n)=5T(n-1)-6T(n-2) ;otherwise

Show that the following equations are correct ?
n!=0(n")
33n* +4n’ = Q(n%)
Develop a Huffman code for the input string
“a fast runner need never be afraid of the
dark”. Explain how the greedy-choice
property used in this algorithm ? 3
Write an algorithm for merge sort. Show that

5

running time is O (n log n).
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is ayerage case time complexity of your greedy

algorithm ? 5

(b) Findaminimum spanning tree fora given graph
using Kruskal’s algorithms. What is the time
complexity of this algorithms 7 Explain the
reason why Kruskal’s algorithm always yiclds

3

optimal spanning tree.

7. (a) Writeanalgorithm to perform DFS ona graph.

Find out the path from A to L using DFS . What
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Is the complexity of your algorithm? Does this

algorithm always yields optimal solution? 5
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(b) What is the basic objective of Robin Crap
pattern matching algorithm ? Write the Robin
Crap pattern-matching algorithm and explain the
use of rolling hash function ? What is the worst

case running time of Robin Crapsearch? 5
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